MATH 1432, SECTION 12869

SPRING 2014

HOMEWORK ASSIGNMENT 1
DUE DATE: 1/22/14 IN LaB
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INSTRUCTIONS

e Ulse a blue or black pen or a penell (dark).

e Print out this file and complete the problems. You inust do all the probleimns!

o If the problem is from the text, the section number and problemn number are in parant heses.

o Write vour solutions in the spaces provided. You must show wark in order receive credit for a problem.
e Remember that your homework must be complete, neatly written and stapled.
o Submit the completed assignment. to your Teaching Assistant in lab on the due date.

e If you do not do all of the problems, then your recitation quiz fromn the previous Friday will automatically
become a ZERO.
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